Section 8.2 Exercises:

[)  Identify the following polar equations as ( line, circle , spiral , cardioid,
limacon)

1)—2-=20059—sin6 . 2) r+—;—(cos<9+2):0 , 3) (9:———73E

r

4Hyr—3sinf@=2 ,5) r—%cosé’ntlzo ,6)r+2(sinfd—-1)=0

2
7) rsecd=-2 ,8) r=>5cscl , 9) —=-cscl, 10) gzsecé’
r

11) g-:sine-zcose , 12) -;-r:—z , 13)2r=-0 ,0<0

14) r:———i— ,0>0 15)—;:r:<9 ,0<0,16) 8=-2

17)r+%:—;-sin(9 : 18)2: 1 19)9:_4_”

r  3cos@—sin@

20) 2r = — 3 ,Zl)lr:9,920,22)—3—r=5
sin@ + 5cosé 2 2

23) —resc@=7 , 24) r=4sec, 25) 6’:% C26) r =5

27)

=5, 28)2r+cos@d =-2, 29) 3r—sinfd =1
cosd

30) 2r—5cosf =—-4 31)r+—§—(cos@+l):3 , 32)20=-9
33) r(ésiné’—cos@):z . 34)3rsecd =-1, 35)2r =—cscét

36) 29:—% , 37) —320050+—§—sin¢9 ., 38) —r:x/fe ,0>0

r
39) F2 =9 | 40) 6r —sin@ +cos@ =0 , 41) 2r +3sinf+4=0



1)

Match the following polar equations (1-31) with the given graphs ( a-v)

. 3) r—2(sind-1)=0

) 2r—cos@=2,2)2r=
1—-cosf

4y r—2(cos@—-1)=3, s5yr=20 ,0>0, 6)r=-0 ,0<0

7y r=2, 8)r=-3cscl , 9N r= —— , 10) 2r = —sect
2cos@ —sind

1
11y —r=cscl, 12) rr=2,13) %r:cosH 14)r =-2sin260

15) 2rcscl =—1 16) r —2rsinf =2, 17)r--%csc@ ,
18)1/:—%00839 19y r=-20 ,0>0 ,2000=-3,

hyr=6 ,0<0 , 22)6?:—-7—471 . 23)rsecd =-2, 24)r:%sin9
25)%r+sin9—1:0 . 26) 2r =—cos@+2 27) r =3-2(cosf+1)

28)6’:—271 , 29) r:—12—c0529 . 30) r:%sin%’, 31) 0 =1
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